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APPENDIX 2
HOW TO READ CHEMICAL FORMULAS

ITpu uTeHnn XUMHUECKHUX (OPMYJT OYKBBI JTATHHCKOTO ajihaBUTa, 0003HAUAOIIHE HAa3BAHHE die-
MEHTOB, YHTAIOTCS COTJIACHO aHTIMICKUM Ha3BaHWsIM OYKB ajdaBuTa.

3Hak — 0003HAYAET O/IHY CBSI3b WJIM €WHHUILY POJICTBA U HE UNTAETCH.

3Hak = gutaercs: give, form, produce.

3HaKk — 4WTaeTCA: give, pass over, lead to.

3Hak <> yntaercs: forms and is formed from.

Hudpa (BHU3Y) mocTie Ha3BaHUS YIeMeHTa 0003HauaeT YUCIO aTOMOB B MOJIEKYJIE.
Hudpa nepen Ha3BaHUEM 3JIEMEHTAa 0003HAYAET YUCIO MOJIEKYIL.

IIpumepst:
H,0 [‘ei t] 'tu: 'ou];

HNO; ['eit] 'en 'ou 'Ori:];
AgNOQO; ['ei'd3i: 'en 'ou 'Ori:];

C + O; — COy: C plus O two give CO two or: one atom of carbon reacted with one two-atom
molecule of oxygen and produces one molecule of carbon dioxide;

2H, + O, — 2H;0: two molecules of H two plus O two give two molecules of H two O

['tu: 'mdlikju:lz av 'eitf 'tu: pl A s 'ou 'tu: giv 'tu: 'molikju:lz av 'eit/ 'tu: 'ou] wiu: two two-atom molecules

of hydrogen react with one two-atom molecule of oxygen and produce two molecules of water;

N, + 3H; - 2NH;: N two plus three molecules of H two from and are formed from two molecules

of NH three ['en 'tu: plus 'Ori: 'mdlikju:lz ov 'eit] 'tu: 'f>:m ond a: 'H:md from 'tu: 'mdlikju:lz av 'en ‘eit]
'Ori:];

H — C — H: CH four ['si: ‘eit] 'f>:];

H H

| |
H —C — C — H: Ctwo H six ['si: '"tu: 'eitf 'siks:].
| |

H H

23



Generated by Foxit PDF Creator © Foxit Software
http://www.foxitsoftware.com For evaluation only.
Reading of an equation: Zn + H,SO4 — ZnSO4 + H,
The “plus” sign on the left of the arrow means “reacts with”; the arrow means “forming” or “pro-
ducing”; and the “plus” sign on the right of the arrow means “and”.
So this equation is read: “One atom of zinc reacts with one molecule of sulphuric acid producing
one molecule of zinc sulphate and one molecule of hydrogen™.
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